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Instructions

Preamble

Welcome to this experiment. Thank you for coming. These instructions are to help you to understand what the experiment is about and what you are being asked to do during it. The experiment gives you the chance to earn money, which will be paid to you in cash after you have completed the experiment. The payments described below are in addition to a participation fee of £2.50 that you will be paid independently of your answers.

The Bingo Blower

At the back of this laboratory you will see a Bingo Blower. You can inspect the Blower at any time that you want.  At the front you will see the projections of the Bingo Blower.  In it, as you will see, there are balls of three different colours – Pink, Green and Orange – which are being blown around inside the Blower. After you have responded to the various problems in the experiment, you will go to the Bingo Blower and you will activate a mechanism which will expel one ball from the Bingo Blower. The colour of this one ball, combined with your answer to a randomly chosen one of the problems during the experiment, will determine your payment for taking part in this experiment – as we describe below. 

Payment

At the end of the experiment, one of the 65 problems will be picked at random by your picking at random a lottery ticket from a set of such tickets numbered from 1 to 65. We will then look at what you did on that problem (your allocation to Asset 1, your allocation to Asset 2 and your experimental money remaining on that problem). You will then go to the Bingo Blower and you will eject one ball. The colour of that ball will determine your payment, because it will determine the payments on the two assets. You will be paid in cash and then we will ask you to sign a receipt and to confirm that you participated voluntarily in this experiment. Then you will be free to go.
The Problems

This experiment is a simulated investment game. The experiment consists of 65 different problems. In each problem, you will be endowed with 100 units of experimental money, and you can use it to buy two assets. The price of each asset is 1 unit of experimental money. You do not need to spend all of your endowment on the assets, and you cannot borrow any experimental money to buy the assets. Any experimental money not allocated to the two assets will remain as experimental money on that problem. You cannot transfer experimental money from one problem to another. We call an allocation of your 100-unit endowment of experimental money between the two assets and experimental money a portfolio decision. The computer software will tell you for any given portfolio decision the payoff you would get for each of the three colours. 
There are three different possible states (Pink, Green, and Orange) that could happen and each of the states gives a payoff to each asset. For each problem, the possible payoffs for the two assets are different. You will get this information in a payoff table when you start each problem. An example is given here:

	
	Pink
	Green
	Orange

	Asset 1
	1.2
	0.6
	1.6

	Asset 2
	0.5
	1.3
	1.4


The colour will be decided by one draw from the Bingo Blower – as we have described. If the payoff table for the randomly selected problem is that above, then for every unit of Asset 1 that you bought in that problem you will be given 1.2 units of experimental money if the ball drawn is Pink, 0.6 units if the ball drawn is Green and 1.6 units if the ball drawn is Orange; similarly for every unit of Asset 2 that you bought in that problem you will be given 0.5 units of experimental money if the ball drawn is Pink, 1.3 units if the ball drawn is Green and 1.4 units if the ball drawn is Orange. As we have already said any units of experimental money that you kept in that problem will remain as experimental money for that problem. 

Continuing with the example above, if your portfolio decision in this problem was to buy 40 units of Asset 1 and 30 units of Asset 2 (thus keeping 30 units of experimental money as experimental money for that problem) then you would end up with 93 ( = 40*1.2 + 30*0.5 + 30) units of experimental money if a Pink ball is drawn, 93 ( = 40*0.6 + 30*1.3 + 30) if a Green ball is drawn and 136 ( = 40*1.6 + 30*1.4 + 30) if an Orange ball is drawn:

	Pink
	Green
	Orange

	93
	93
	136


If instead you had decided to buy 60 units of Asset 1 and 40 units of Asset 2 (thus having no units of experimental money left) then you would end up with 92 ( = 60*1.2 + 40*0.5 + 0) units of experimental money if a Pink ball is drawn, 88 ( = 60*0.6 + 40*1.3 + 0) if a Green ball is drawn and 152 ( = 60*1.6 + 40*1.4 + 0) if an Orange ball is drawn. Notice that you do not need to calculate these payoffs as the computer will tell you the payoffs for each of the three states. The experimental money that you end up with will be converted into real money (which you will be paid in addition to the £2.50 show-up fee) at the rate of 12 units of experimental money equal to £1 in real money.
How you express your desired purchases

When you start each problem you will see a triangle with red sides on the screen. When you move the cursor into the screen you will see that each particular point in the triangle represents an allocation of your 100-unit endowment of experimental money to the two assets and to residual experimental money. This will be written alongside the triangle. The horizontal distance from the left hand side indicates the number of units of Asset 1; the vertical distance from the bottom indicates the number of units of Asset 2; the residual amount of experimental money is written beside the triangle. You can see a Portfolio Table on the screen that shows the amounts for two assets and experimental money when you move your cursor inside the triangle. For example, if you put the cursor at the bottom corner of the triangle (actually the mouse cursor is always starting at this point which represents your initial situation), this represents buying zero of both assets: the bottom-right hand corner represents spending all the endowment on Asset 1; the top-left hand corner represents spending all the endowment on Asset 2; and the middle of the triangle represents spending one-third of your endowment on Asset 1, one-third on Asset 2 and keeping one-third in the form of experimental money.  Move the cursor around until you see your desired allocation. Then double click with your mouse to make this choice. You will be asked to confirm your decision, though you can change it if you wish by clicking on ‘No’.

How Long the Experiment Will Last

Because it is in your interest to consider the problems carefully, we are imposing a minimum time of 30 seconds for your answer on any problem; you cannot go onto the next problem until these 30 seconds have elapsed. We are also imposing a maximum time of 180 seconds; if you do not answer and confirm you decision in these 180 seconds, we will assume that your allocation to each of the two assets is zero.

We estimate that the experiment will take at least 60 minutes of your time. You can take longer and it is clearly in your interests to be as careful as you can when you are answering the questions. 
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